PAKET 1 NAMA

EKSPONEN, Kelas
LOGARITMA &
AKAR No. Absen

1. Hitunglah nilai dari :
@nB+ ™
52

Jawab :

@ B+D ™ (B )bt b
52 R - -

-------

2. Sederhanakan bentuk dari :

VZ+VB+3VZ-ViZ+V3

Jawab :

VZ+VB+3VI-VIZ+V3=VZ+V. . Z2+3VZ-V..3+3
=NZ 4tV VI 432 =V 3443
=VZ4 - NZH3Z = V3 +3
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3. Rasionalkan penyebut pecahan dari:
5

3+2V2
Jawab:
5 5 3-2v2 ..(3-2V2)

= : = = ...[3=2v2

342V2Z 3422 3=22Z  i—em (3=2v2)

4, Hitunglah nilai dari :

6lng 9= 6|ug 12 + 6!{19 8

Jawab:

6log 9™ 6log 1 b 6!09 8 = 6]0g$ = 6log: T 6iog.... -
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